
FSR 244 Bergen Boulevard, Woodland Park, NJ 07424, Phone: 973.785.4347 - Fax: 973.785.4207

43393 LIT1786A

SW-WF-RIN Rough-In Box Installation Instructions

STEEL SILL PLATE:

WOOD SILL PLATE:

PLACE EITHER EDGE
AGAINST SILL PLATE

TABS ARE FOR 5/8" THICK DRYWALL
REMOVE TABS FOR 1/2" THICK DRYWALL

SILL PLATE

TRACK SPACER

CHASSIS

CHASSIS

CHASSIS

SILL PLATE

SILL PLATE

(2) #8 TRUSS HEAD SCREW

(2) #8 TRUSS HEAD SCREW

(2) #8 TRUSS HEAD SCREW

FOR DRYWALL THICKNESS:

TRACK SPACER
INSTALLED ON

SILL PLATE

1. INSTALL CHASSIS ONTO SILL PLATE.

NOTICE: FOR INSTALLATION BY A QUALIFIED ELECTRICAN IN ACCORDANCE WITH ALL NATIONAL AND LOCAL ELECTRICAL CODES AND COMMUNICATIONS  
STANDARDS.  ADHERE TO THE FOLLOWING INSTRUCTIONS AND ANY INSTRUCTIONS INCLUDED WITH THE INDIVIDUAL RACEWAY COMPONENTS. 

CAUTION: ENSURE EDGE OF RACEWAY COVER IS DEBURRED.



2. INSTALL CONDUITS AS REQUIRED.

CONDUIT AND FITTINGS
BY OTHERS

REMOVE KNOCKOUTS
AS REQUIRED

FRONT COVER

CONSTRUCTION COVER

FRONT COVER

3. INSTALL COVERS

(4) #6-32 PAN HEAD SCREW

(2) #6-32 PAN HEAD SCREW

DIVIDER

LOOSEN SCREW (BUT DO NOT REMOVE) UNTIL
LOCK BRACKET DROPS FLUSH WITH BOTTOM OF
CHASSIS.  THIS ALLOWS DIVIDERS TO MOVE
FOR ACCESS TO INTERIOR CHASSIS AND WIRES.
LIFT LOCK BRACKET AND TIGHTEN SCREW TO
LOCK DIVIDERS IN PLACE.




